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(F) f(x)=In x TRANTTF (ST FTSI?

[What is the domain of the function f(x)=In x?]|
T : QT x > 0 97 &7 (91 W@ y F 9T I [ s D= {x 0 x
y

>0} =(0,0) I
(¥) x G ATATF y = ¢** GF n OH TG FCOI?

[What is the n-th derviative of y = ¢’* with respect to x.|
& : x 9T ACACF y =™ 97 n OF Weqe 220 y, = 3" |
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|What do you mean by indeterminate % form?|

e TR ﬂx}=0m‘<g‘ag(x}=0mw lim R%) = ey

X—>a x—a g(x)
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|What is antiderivatives?|
T : U T F(x) (F (M &WE A4S e THW ((x) 09 AfS
@WWWW@WWxL‘EW%{F(X)} =fix) |

(®) r=a sin 40 IFEIE FOb 7 SCR?
|How many loaps are in r = a sin 40?|
T : r = asind0 9T A FHT WL |
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|State Walli’s formula.

2 /2
Teq - J‘ sin"x dx = J“ cos™x dx
0 1]

(n-D(n-3)....53.1

nn=2) ... 642 - TN
(n-1(n-3).........642
n(n-2).......53.1 T n ;

(7)) TR*F f(x) = |x — 2| +3 G @@ ITN?
[What is the range of f(x) = |x—2| +3?
szf(x)=|x—2|+3
_{—(x—2)+3‘1‘*ﬁx<2_{5—x‘1‘${x<2
X-2+3 TWAx=2 |x+1FEMx>2
TR (8 (Re) = (3,00) U (3,00) = (3,%0)
(&) T TS y = f(x) FRAAB x = 2 RS TR T2

[Under which condition the function y = f(x) will be increasing at x =

a?|

©&7 : AW f'(a) > 0 T @ x = a TS y = f{(x) TALMC TFHETH 227 |
() I Giifere Seieivfe Jte

|State fundamental theorem of calculus.

T : I f(x) FRHF [a, b] T7 VIO AR @R fix) @9 &f SwaE

F(x) =¥ 59 J’IJ f{x) dx = F(b) — F(a)
a
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|Write down the Euler’s First integral.|

1
W:m,n>0ﬁ‘f€‘_‘[J’ ™' (1 - %)™ dx & 961 T 40 | 3AE
0

B(m,n) QT P T |
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T "y Q| y=cos(ax+b)§ﬁ,m\3C‘I,yn=a“cos(ax+b+n-%)|
SPB(mn)=| xX" (1-x)" dx|I
0 n
If y = cos (ax + b), then show that n=a"cos(ax+b+n-—].
< frert (Ify ( ) Y 2 ]
@ A o & evew B wre- 8 X9 =5% a2
2 ) a
2 " \15 CF =’“G ‘a- 3@ = - = % CE‘liiammﬂﬁtﬂtFil_
2 x=5in(#]ny)5ﬁ',€ﬁ"ﬂ€(’l,(l—x‘)yn+g—(2n+l]xyn+|—(nz+m‘) l &, X" =day IRy = dox NI 3
yi=0 [Show that the common area intersected by parabola x* = 4ay and y* = 4ax
= . 162’
[If x =sin (#lny), then show that, (1 - x°) Yn+2—(2n+ 1)xy,.+1—(n2+ 1573 gy
m’) y,=0.]
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[Find the volume of the solid formed by the revolution of the ellipse
2 2
}—;2'+‘;7= 1 about s-axis.]

1+x* whenx<0
[Given f(x)=9 X when0<x<]1
I/’x whenx>1

Draw the graph of the function. Find domain and range of it. Also justify
the continuity and differentiability of the function at the pointx = 1.
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[Establish the relation between Beta and Gamma functions. Also show

that, r@ =/ ]
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[State and prove Rolle’s theorem. ]

So | Wﬂﬂ,ﬁr=a'\ﬁ mr=2acosﬂim¢%‘5mmmﬂ“‘faz(n
-1.
[Prove that the area common to the circles r=a\ﬁ. and r=2a cos 0 is a’(n

- 1]

FACEBOOK - P1 MATH CLUB YOUTUBE - P1 HATH CLUB WEB - HTTPS://PIMATHCLUB.COM/




